2015

( November )

COMMERCE
( General./ Speciality )

Course : 103
( Financial Accounting )
The figures in the margin indicate full marks
for the questions -
( New Course )

Full Marks : 80
Pass Marks : 24

Time : 3 hours

1. (a) Fill in the blanks : 1x4=4
A 52 7T F90 :
(i) Balance Sheet is also known as
Statement.

Tgs e __ fRfe e wmam

(i) In hire-purchase system, the buyer
charges depreciation on _____ price.
U7 S (T AR IR
=553 4 FF |



(b) Write True’ or ‘False’ :

(2)

(iii) Royalty Account is closed by
transferring to Account.

favpie (e IR TR o 19

FAAN
(iv) Branches are generally classified
into types.

MATES SRS gFRe [Ree
A

S’ @ R R

(i) Profit & Loss Account shows the
financial position of a concern.
s F (@R B elf$H @3
8 ST EE |

(i) Profit on repossession of goods
sold on hire-purchase system is a
capital profit.
T e R 2 I AR [
<3 oféfe 341 wres TRl FS R @R
gl '

(i) Shortworking is the, excess of
minimum rent over actual royalty.
T Beor (XR AP TGIISLE AT
Y IS AT |

(iv) In Departmental “Accounts, each
department . isw.considered as a
separate profit centre.
Rery Borers ofeh R et 432
S (3% ¢ Reaom 39 W |

1x4=4

2. Write short notes on (any four) :

(3)

57 B fapn (R e wify)

(a)

(b)

()

(d)

(e)

3. (a)

Accounting Standard Board set up in
India

SRS afefde Roe-fm Tme o
Termination of hire-purchase agreement
©IEl- 3 BT AfEeee

Goods-in-transit

TBIALS AFT AN

Principles of allocation of common
expenses among departments
2;;:;253 V&S HLRT ROHH W6

Shortworkings
b Tesrm

What do you mean by ‘Accounting .
Standards’? Mention the procedure
for issuing Accounting Standards.
Distinguish between Accounting
Standards and Accounting Principles.

2+6+6=14

“favrel-Rmm T’ e R e 2 Roe-Re
T STEeTE e Ty 3 | Ry -Ra e
wF fEpe-Ram Az Toe 431 AeeeiR
TeE) 39

4x4=16



(4)

Or / ]

(b) The following is the Trial Balance of Ajay
and Bijay, a partnership firm as on 31st
March, 2015 :

TR wE RewR «b W@ ofS9ss 2015
54 31 TbT Tgs feme e frn 29 ¢

Trial Balance / %58 [em+q

Debit Balances
(=5 oz

Opening Stock
2RTE TR
Machinery

Tnts

Purchases (adjusted)
T (EAEs)

Salary

T2

Wages

w9

Buildings
=L

Insurance

T

v
B

24,500

50,000

1,30,000

10,000

14,000

60,000

500

Credit Balances 4
General Reserve 38,000
e e
Reserve for =

Doubtful Debts 500
sS4 %
Sales 2,35,000
K&
Sundry Creditors 33,700
ffdy efeame
Ajay's Loan 8,000

(Taken on 01.10.2014)

T Y
(01.10.2014 1T C=TRT)

Bills Payable 9,350
A =
Bad Debts

Recovered 450
SRR 9 TR

Debit Balarnices
G 7S

Freight
Rl
Conveyance
Jrore 1y
Carriage Inwards
i ol BEEG|
House Rent
REEN)|
Returns Inward
Ry fiRe
Carriage Outwards
RIESECECIE)
Sundry Debtors
Ry o
Bills Receivable
=17 =
Cash in Hand
=9 TS Sl
Drawings :
LIETRE

Ajay

ey

Bijay

fem
Closing Stock

AR TGS =4

(5)

L 4

52

Credit Balances |4

(TG e

3,000 Capital :

1,400

3,850

2,400

1,600

2,400

18,000

5,250

2,300

3,600

4,200

38,000

3,75,000

e 2
Ajay
e
Bijay
Rem

30,000

20,000

3,75,000



(6)

Prepare a Trading and Profit & Loss
Account for the year ended 31st March,
2015 and a Balance Sheet as on that
date taking into consideration the
following information : 4+5+5=14

TR TR Rt R 2015 vR 31 18
TR T7 o4 I[WIADF MR F-Raa B,
TS-ETR B W o wfive tya-em
mafﬁmem:

() On 29.02.2015, a fire broke out
in the godown and goods worth
¥ 7,000 were destroyed, goods
being insured, the insurance
company admitted a claim for,
€ 6,000

29.02.2015 wfy @mwe R
Nehe 2’7 WF 7,000 IR CLRT B
2’5 | T A RS e T @R
6,000 5373 #3lcz 217 I

(i) Reserve for Doubtful Debts is to
be maintained at 5% of Sundry

Debtors
Ry AR @R 5 MO FHTREAS
9 < @RI A

4. (a)

(b)

(-7 )

What is_‘hire-purchase system' What
are its important features? Distinguish
between, hire-purchase system and

instalment-purchase system. 3+5+6=14

O rafe’ 7 TR wen®y R
fF RBr sw-am omfe e Rfs-zm i
SRS 21 *NLFrTg2 Seae 9 |

Or/ 5%

Nikhil purchased a machine on hire-
purchase system for ¢ 1,12,000. Down
payment is to be made ¥ 30,000 and the
remaining part is to be paid in three
instalments of ® 30,000 each at the end
of each year. Rate of interest is charged
at 5% per annum and Nikhil is
depreciating the machine at 10% per
annum on written-down value method,

Because of financial difficulties, Nikhil
after having paid down payment of
¥ 30,000 and first instalment at the end
of first year, could not pay second
instalment and the seller took
possession of the machine. Seller after
spending ¥ 1,700 on repairs, sold it
away for € 62,000.

Show the Ledger Accounts in the books
of Nikhil and the seller to record the

transactions. 4+4+442=14



S.

(a)

(8)

ARE 1,12,000 ¥R <61 Giftn Srv-a
Eiee w1 IRMA | @fa @R we w5
CICHEIF A 30,000 B W I 591 oAfs
IR WS 30,000 b R0 s «tfiony
3= =l | 37 2™ =R 5% wF Tl =R
10% 2TRS FRPEH “&ios S5y 4 §[-7 |

Ao wfds wrffdam A wewhs 30,000
R W A9 599 ¥ R e G

R ey IR cERR ww Reek
s wikezst 3e3 | Regpolz, @A 1,700
5TS CITARS @, @A 62,000 S o
& 3@
e R o[ Filke s Rogor B tfore
f2ort o =
(i) What do you mean by ‘branch’and
‘department’?
a1’ we R e 6 e e
(i) Distinguish between Branch
Accounts and Departmental
Accounts.

w1 fovrel S Ry f2orR Iee S

APz TCEY I

(i) How are the inter-departmental
transactions recorded in Depart-
mental Accounts?
RefgRose gmsRem @R
@ ferfors o2 = 7

(9)

Or/ 231

() The Lakhimpur Head Office supplies

goodsnto its branch at Jorhat at cost.
The branch sells the goods for cash and
on credit and remits the proceeds to

2+2=4

the Head Office promptly. The branch
expenses being met by the Head Office
by cheque. The following are the
transactions relating to the branch for
the year ended 31st March, 2015 :

AN I PRI @GS < TR e
TS ANTE P | MR A WE 5T
ﬂwﬁ@?ﬁﬁﬁmamﬂﬁﬁww
CERT I | 20 PRI A IAGRA G0
W& S M 1 2015 v 31 W6 oifiey wm
WWWWWWW

INTH :
e (5)

Stock at branch on 01.04.2014 60,000
01.04.2014 Ity MR 75 FoR
Debtors at branch on 01.04.2014 80,000
01.04.2014 Sz 1@ owmr
Goods sent to branch during the year 4,50,000
TLICHTS 1A 2ifis A
Total sales at branch

(including cash sales ¥ 2,20,000) 7,40,000

I o R (7 @78 2,20,000 FerTE)



(10 )

Goods returned by branch
YR 2R 2RE L T T

Goods returned by customers
TR AR AL I

Collection from debtors
(R=THTAR 23] (TR A1

Discount allowed

273 7'

Bad debts written off

TR W BRE Y T DA

4
20,000

20,000

4,20,000

20,000

- 10,000

Cheque sent by Head Office towards the branch expenses :

TR <@ AW Y FRECH O 9

Salaries 50,000
LEPE

Rent 25,000
2

Petty expenses M
Y 96

Stock at branch on 31.03.2015
31.03.2015 @[ *¥R TGS TR

80,000
90,000

Prepare Branch Account and goods sen;
to Branch Account in the books of Hea

Office. Also, prepare. Branch D
Account in a working note,

ebtors
g+4+2=14

T4 Frfion T2Hg =19E Rorer s we okl
AN B orge T IR GRS MR

creTTRA f26TCon CryeR |

ERI

|

(11 )

(@ () What is ‘minimum rent’ in Royalty
Aecount? Why is it important in
Royalty Account? 3+3=6
T Bvire fwes A 0 yowed
f2ire 3R wes T 2
() What conditions are to be satisfied
for recoupment of shortworkings? 4

ﬁﬁ{m“ﬁ”ﬁﬂmﬁﬁb‘éﬁq

=5 7 2
(i) Distinguish between ‘Rent’ and
‘Royalty’. 4
SIS 2 i ) R NPT
TEy 9
Or/ |1

(b) Mohan Deka took a colliery from Jatin
Chaudhury on lease for a period of
15 years from 1st January, 2008, on a
royalty of € 16 per ton of coal raised
with a minimum rent of ¥ 80,000 per
annum and power to recoup short-
workings during the first four years of
the lease.

The annual coal raised were :
Year 2008—3000 tons
Year 2009—3500 tons
Year 2010—5000 tons
Year 2011-—9000 tons
Year 2012—10000 tons



( 12 )

From the above particulars, Prepare
(i Royalty —Account, (i)  ja.
Chaudhury's Account and (ifi) Shepy.
workings Account in the books f
Mohan Deka. 5+5+4=14

@z e Fou ER A9 B e
2008 R 1 @Rl Of¥E [ 15 35
R Fre | @R fgeN g
80,000 Gere fake 2H e ofs By
Teefrs FUETe 16 091 WS ¥ed fam v
ThEE 77

5fe =R g iR 397 fooge F9e [
7% TR o S e S Afd |

Tfie 5 TeHR Afwe -

2008 51—3000 G
2009 %—3500 B
2010 59—5000 B
2011 $3—9000 5
2012 59—10000 B

YIRS CUR 4] (e (SE 2O (1) ‘5"5 qﬁi
o, i) w8 R, oo e (i)
TR fobret e 41

1.

(13 )

(*Old Course )

Full Marks : 80
Pass Marks . 32

Time : 3 hours

(@)-Write ‘Correct’ or ‘Incorrect’ : 1x4=4
w1 R
() Unearned Income Account is a
liability.
SEefeRe SRR fZ0e (2 ¢ o |

(i) Cost of goods sold on hire-purchase
is transferred to hire-purchase
Trading Account,

- RS AR R o 9
f2B11eh1 Cate STE-@ fee-canr B |

(i) Minimum Rent is also known as
‘Rock Rent’ in Royalty Account.

Frem <reet Ot <o 3fee (I =W |

{iv) When a partner is not able to meet
his liabilities, he is said to be
solvent,
cfem @en awa s fem o
sfivy At woEd W, (O3 (9T
ozl Jfe 51 W




(iv) If inventory at branch is shown at
invoice price instead of cost price,
then the account which is used for
adjustment is Account.

XS TS IR MR @ TR k@S
i e fRoe ¥ea SR IR
IRTS (2RI REIACET Czrm fzoret 1

( 14 ) (15 )
(b) Fill in the blanks : 1x4=4 2. Write short notes on (any four : 4x4=16
& 372 o3t 349 - Y Cor i (R e i)
(1} Valuation of inventories is fa) International Financial Reporting
accounted for as per the Standards (IFRS)
Accounting Standard wEfes 78l wfeam TR (IFRS)
TS Y e et [ EH (b) -Instalment Purchase System
T S fprere ceR = | R @ -mafe
(i) Hire-purchase transactions are () Goods-in-transit
controlled by the Hire-Purchase Act JARS AN
f .
2 (d) Lease
=& Ranifcti ol
(e) Rules of Garner vs. Murray
(it} Royalty paid on sales is debited to MR T 3R forrmryz
Account.
yeed RER e +Reny SRE 8. (@ () What do you mean by the basic
farrre CoRE 1 =W | concepts and conventions of

accounting? 2+2=4

f%m-ﬁmﬁﬂgammwam{ﬁﬁ%
e ?

(@) Write a note on Accounting
Standard Board set up in India. 4

SRS ZHA-fRan T cfie Ra of
o1 forzy |



(16 )

() Distinguish between Accounting
Standards and

and Accounting
Principles.

oot e we fEm1et-Rre
ST w4 AP TEy 9 |

Or / 5231
(b) Akash and Bikash are partners of a

partnership business. The Trial Balance

of their firm as on 31st March, 2015
was as under :

ST F1® R 9B S MR et S
2015 573 31 WS (oo Ty AfsTe
Trial Balance / &59 fizmag
Debit : .B?'ances 4 Credit Balances 4
Land and Buildings 40,000 Trading Account 60,000
o | T (Gross Profit)
Machinery 18,000 @%-Rwa fBoysy
W (38 =rs)
Drawings : Capital ¢
WA FEG
Akash 2,000.. Akash 35,000
s RIEah
Bikash 3,500  Bikash 25,000
B0 faor

Debit Balances
cofd ey
Salaries and Wages
az] HE 4G
Furniture
HHAM

Trade Expenses

| Sundry Debtors

e

g o

Discount
Biic]

Insurance

-

Advertising
o= T

Cash at Bank
(SESIGRT|

Bills Receivable

A7 &=

Closing Stock
(on 31.03.2015)
A TGS A0
. (31,03.2015 ®1RC?)

("17

4
Bl
3,700

6,500

1,900

24,600

1,000

1,200

3,000

2,900

4,000

36,000

1,348,300

)

Credit Balances
cafoh ooz
Provision for

Doubtful Debts

SCwEE 4
General Reserve
AR 7S
Sundry Creditors
fafay nem
Outstanding Wages
w2rTE TG
Bank Loan
(on 01.10.2014)
(A% A9
(01.10.2014 31RC)

4
Bl

800

4,000

15,000

500

8,000

1,48,300



(19 )

Propriation Accoy (iv) Provide depreciation @ 10% p.a. on
h, 2015 ot for land and buildings, @ 12%% p.a.
as on ’ th and 2 on machinery and @ 5% p.a. on
5t date furniture

o wF T4 e[S 2@ 10% TWS,

31 T8, 2015 wfiye wg BT e wgeifos @S 1214% TWS SE ARA
R S s R e S — -y e J @RS 5% RS S5 47 FfAq A
FREEAR fom o " |
T=T 7 T tE wifive aw TFa-1g (v) Write off Vath of advertising
I Wﬁmﬁ mw . |
' : faom e v o et @ o

) Write off bad debts 600 and
provide for doubtful debts @ 5% on
remaini

aining debtors { 4. (a) Distinguish between credit sale and sale
[ under hire-purchase system. Mention
[

600 B eparai 49 et wweom
FfR3 #es W SRR e @oRs 5%

any three rights of hire seller and three
rights of hire purchaser as laid down in

TRT AvEES 4 A% ow Ff9 = ! the Hire-Purchase Act, 1972. 5+3+3=11
(i) Provide for interest on capital @ 5% e T4 REF e STe-a orafes 91 RFR

per annum TS A ANLTPYR TCEY I | SU-E iR,

_ _ 1972-% ffeE sro-Reee w1 wrw-cFen

TR = S 2 =0/
IR TAGR 8°{S I2[ 5% T o FoRe S g o |
3 &f4q =S ‘

| Or / J2AT

(iti) Provide for interest on bank loan
@ 10% per annum

QT IR €7k ITMH 10% 3RS ¢ {1
Ll , i

(b) Kumarendra purchased a motor-
cycle on hire-purchase system from



(20) (.21 )

M/s. Bora & Co. Th
" : e term s 2 - :
purchase are : T 5. (a) (i) /What do you mean t'>y inter-branch
! transactions? Mention about the
D ¢ | different methods of recording such
OWh payment 40,000 ‘ transactions. 2+4=6
Ist instalment | )
Ind ; 43,500 ‘ ST Ee JfAcE [ g2 G
2 instalment 39,000 { BiPrE o9 "T‘GT\%W«P e
3rd instalment 34,500 GFRCTTIR
& ’ ! 9
linstalments :
the year anI; o I?ayable at the end of (i) Discuss about the main objectives
equal each instalment includes { B h A ts 5
th amount of cash price in addition BRI
o inte
rest. )| {35191 2 STRIPTYE TCEY 9
Prepare . .
thepbook:e;?i;aeq[; Ledger Accounts i ) Or / &24
uyer. 11
TIAEL (TOI6 33 9% T o[ Q2 SR (p) Jorhat Head Office sent out goods to its
TRIeH TIU-3W Efee @ | T ) Golaghat Branch at cost plus 25%. The
' . s iz branch remits all cash received to the
Head Office and all expenses of the
. ¥ (o) branch are met by the Head Office.
SR AR 40,000 From the following particulars, prepare
229 ffy “Afany 43,500 . (i) Golaghat Branch Account showing
faZr M #ffarny 39,000 ' the profit or loss at the branch,

(i) Goods sent to Branch Account and
(i) Branch Debtors Account in the
books of the Head Office : 5+3+3=11

EREH I FHEE TR TR0 X0
TR FTS 25 R @ B AIE R
Z7a | =1 ARSI PR FRCEACIR o 4= L0

7E ol wifemy 84,500

’“’f"“ e e wwe efipiy s
MR 1 afe fefys g af@e Fom LRI
HAT T f | '

|



(22 )

e (B9 I WF R KA I Y
TR 329 @ | woFe f faeqe M g4
FETR DT () M P @@ s 1
RS AT (R e WA o1,
(0) XTIRTF (S R e e (iii) T
TR 251w 3

¢ o)
Stock at branch on 01.04.2014 (Invoice price) 17,500
01.04.2014 2T MR TS 78R (5 T#0)
Stock at branch on 31.03.2015 (Invoice price) 18,750
31.03.2015 =& 4R TS AR (PR 34
Goods sent to branch during the year
(Invoice price) 13,75,000
FLILE M cofae 2ores (BT g7m)
Goods returned by the branch (Invoice price) 75,000
TR R RS R e (e o)
Cash Sales 3,00,000
o
Credit Sales 9,98,750
T3 T #
Goods returned by customers 40,000

IR °R1 e wz ez

( 23,)

¢ (o)

60,000
Discount and allowances to customers

AT o A A5 T (2R

5,000
Bad ngts

SER A 4

Cash received from customers
PR o[ A1) 4

10,45,000

2,40,000
Sundry Debtors as on 01.04.2014

01.64.2014 ey Ay oAmE

Cheques sent to branch :
wite qwior ~fied TA

1,00,000
For Salary

R AT

For Rent

STeR 1M

For Sundry Expenses
fafen apm IRT

24,000

25,000
1,49,000

() What is ‘minimum rent’ in ROYal'tY
Account? Why is it important 1;14[ 6
Royalty Account?

waqas oS fiyey e’ 7 T
fBorre TR g IR 2

nt

(i) What do you mean by ‘recouirtril:ns

of shortworkings’? What con i

are to be fulfilled for recoupm o e
shortworkings?

6. (a)

- = ~



(24

‘TR W fre f @12

TR el e B B v i
lezasm 20

Or / g2<1

(b) Raju took a lease of a mine on

01.01.2011 for a period of 20 years.
Royalty payable is ¥ 1 per ton subject to
a minimum rent of & 12,000 per annum.
The shortworkings are recoupable

during the first three years of the lease.
The output was :

Tons
Year 2011 NIL
Year 2012 4000
Year 2013 20000
Year 2014 40000

Give Journal Entries in the bookés of
Raju to record the above tramsactions.

TR B FeE 01.01.2011  wficy

20 =33 IR Aere Gefes, Affe figew
ATE 12,000 5oR p¥enafe G 1 Sene
TR Aface e @Ay aem oty qeae 2%
SeeR wfoqft ewe wfign e

11

‘7’

(a)

(b)

(25 )

e o[l e S A R -
@ :

-

Gl
2011 &1 T {2
2012 B 4000
2013 B 20000
2014 Bl 40000
e I T SR W ARz

¢ ion’?
What do you mean by amalgamation .f
What are the different methods ©

amalgamation? Mention about th?
jecti d advantages o

objectives an i

amalgamation. 24343

fafen
Z W‘T’ = 'f% W"' éﬁfiﬁﬁ‘ﬁ
o:a%mg ﬁsf:? e I

RAPTgR B |

Or / {1

In a partnership firm, Arun and Barun

are sharing profits and lossesd‘in otlk‘::
i : 3. They decided to dissolv
s A zt March, 2015. Their

their firm as on 31 h, 2015

Balance Sheet as on 31st Marc
is given below :



(26 )

9 AR ofREe W wE  geaq
TS -(FFHHR TS S : 3. 2015 59 31 Wik
12015 R 31 6 wif¥cy codras Mo
TF TS i 27

Balance Sheet / &7a-+g

Liabilities ¥ Assets
o ] TS (22l

Creditors 9,316 Goodwill 4,000
e ST
Loan from Arun 3,684 Furniture 1,000
TEFR 27T 99 AR
Loan from Barun 600 Machinery 2,000
TFR R o TFIS
Capital ; Inventory 9,200
T AR

Arun 8,000 Debtors 10,000

T ' R

Barun 5,400 Cash 800

7 T 13,400 W &

27,000 27,000

The assets realised as follows. ;

Goodwill
Furniture

Inventory

Debtors

Machinery

4
2,600
900
8,300
10,200
8,800

( 27

Creditors’ were paid ? 9,120 in tfull
settlement of their claim. Reahs?1 1;):1
expenses amounted to ¥ 110. A bi : o;
# 130 due for sales ta:.c w.as recde;\;‘eis
during the course of realisation an e
was. also paid. Close the books o

firm. )
o :

o3 weTe il WIS R
A2 & (5%0)
2,600
TSR g
G 10,200
Wﬁ% 8,800

e o SR e TS 9,120 b
ey ) 279 | SR I 2°A 110 5
130 S R 7 o I R 1R ARCn

e | PO SRR A 0

* % &

11



